
99
9 

60
09

 5
10

 ©
 2

01
7 

Sc
ha

ef
lle

r A
ut

om
ot

iv
e 

Aft
er

m
ar

ke
t

21

+

+

+

713 6495 20
713 6496 30

6261
6272

713 6496 00
713 6495 10

6269
6260

1

713 6495 20 / 6261
713 6496 30 / 6272   

= M12x1,5
= M12x1,25   

713 6496 00 / 6269   = M12x1,25   
713 6495 10 / 6260   = M12x1,5   

Nm

Nm

M12x1,5
1. 80 Nm
2. 90°

M12x1,25
1. 20 Nm
2. 120 Nm
3. 90°

2

3


